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= 1,200,000
z 800,000
01 Al&Hl 1,992,800 0 1,992,800
o NS 2X ELBA
1,992,800,000 * 14! 1,992,800
= 1,195,680
= 797,120
03 Al&=rHt| 7,200 0 7,200
o NS X ELBA
2,000,000,000 * 0.36% 7,200
= 4,320
= 2,880
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=22
23 22 Y 2R Y
D85 BEX E4 (el m
M- EB .S (SH) - MEAY - BAS Ao dE = Hm=2
- c T * - = S = o = 0:”/&,% Wsa
401 AlEHIZLE0HY] 30,000 50,000 A 20,000
01 Al&H]| 30,000 50,000 A 20,000
o R3l0=2& Ald2te 7,500 * 4,000m 30,000
=3935 E e 1,411,006 1,807,049 A396,043
2 600,000
o 811,006
ASoIEZ=OH e ;000,000 1,800,000 /800,000
2 600,000
o 400,000
401 AlEHIZLE0HY] ,000,000 1,800,000 A 800,000
= 600, 000
o 400,000
01 Al&H]| 994,240 1,793,520 AT799,280
o JEFXYE L T2 HUIZA
994,240,000 = 14! 994,240
= 596,544
o 397,696
03 AlE=20HY] 5,760 6,480 ANT20
o HIEFXE L MNLTZ HUISA
1,000,000,000 * 0.576% 5,760
= 3,456
o 2,304
SI0IE=2Y 411,006 7,049 403,957
101 @12 H| 4,256 4,049 207
04 JI2tHI22ANSESE 4 4,256 4,049 207
o ZRYEHE NEBE 22y
35,460 * 209 * 6 4,256
201 LEt2AH| 6,750 3,000 3,750
01 AI22t2lb| 960 960 0
< dbt=H| > 0
o Z22YGIE 2eeE 1Y
10,000 * 5= = 12&€ 600
o 22 FxsAHE 10,000 * 18& x 23| 360
02 22349 5,790 2,040 3,750
< BZE2YLMA > 0
o 22YSIE SIEA 2 GIEXelAE JIIe
= 170,000 » 12& 2,040
< AMEHHIKXHl > 0
o 2=GSE AME 2 2,500 = 1,500m’ 3,750
401 AEHIZE0HY] 400,000 0 400,000
01 Al&H| 400,000 0 400,000
o Z22AS0IS B STAANLE HUEX OHE
400,000,000 = 14l 400,000
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SN 2B
Hu: 25 2N L A L
CHl: BIEH| ALY 2 HH)
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 Ao il ot o =2
0184 K| 4 ALY 10,000 10,000
= 5,000
2 5,000
SIS OIS AIIE ALY 10,000 10,000
= 5,000
2 5,000
402 Q12E X2 0| F 10,000 10,000
= 5,000
2 5,000
01 DIZTEEE 10,000 10,000
o olgt DR 4 AR 10,000,000 10,000
= 5,000
2 5,000
HEES BRNAG AL 40,000 40,000
| 25,000
2 15,000
HEHS BRIASAY 40,000 40,000
| 25,000
2 15,000
402 212t Kb 01 F 40,000 40,000
| 25,000
2 15,000
01 DIZREEE 40,000 40,000
o ME BSIEA A 40,000,000 * 15 40,000
| 25,000
2 15,000
NEP-EEEES 149,250 149,250
ARBETH Ty N 149,250 149,250
401 Al&HIL 20| 149,250 149,250
01 Al&H] 149,250 149,250
o MRTITAXH H2BXPLRINE L A
NEBIEES 149,250,000 * 1Al 149,250
BN HY 770,000 770,000
BT N 770,000 770,000
401 Al&HIL 20| 770,000 770,000
01 Al& ] 770,000 770,000
o HD(EHX #E20) 042
570,000,000 * 14! 570,000
o BigEA B DAEEZH 8Y
100,000,000 * 14! 100,000
o S TAGA 100,000,000 * 14! 100,000
2052 2 6,200,000 6,200,000
BH2HET AR 6,200,000 6,200,000
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ne

H0 H0 HO
< fon ton

2l A (etel: =3
_ _ _ N E
SNBSS - MBAY - BES Abou G {imE=Eh
401 AIEHIZ 208 6,200,000 0 6,200,000
01 Al&H| 6,200,000 0 6,200,000
o ZdEZ0a2 A 6,200,000,000 = 14! 6,200,000
dEHE & HR2HE S4 1,481,200 2,444 245 A963,045
Il 80,311
= 1,400,889
MEBHYSUAIXEX HXI2SE 150,606 160, 354 N9,748
Il 80,311
= 70,295
MBS SR BEXIAFS 83,712 83,712 0
Il 41,856
= 41,856
307 2120l & 83,712 83,712 0
Il 41,856
= 41,856
02 2ItAAE X 83,712 83,712 0
o MBI HHX 20,928,000 » 4H 83,712
Il 41,856
= 41,856
LRUIRSRS R 5=DESPNR==PAL: [ PN 41,856 41,856 0
p) 20,928
= 20,928
307 21201 & 41,856 41,856 0
Il 20,928
= 20,928
02 2ItAAE X 41,856 41,856 0
o LONMGMENSFA A X
20,928,000 * 2% 41,856
J| 20,928
= 20,928
HMEHSX™ AEAS 25,038 12,600 12,438
Il 17,527
= 7,511
307 2120l A 25,038 12,600 12,438
Il 17,527
= 7,511
02 It a2 x 25,038 12,600 12,438
o MsHH AlEA 25,038,000 » 1oH A 25,038
J| 17,527
= 7,511
HEEMAILH+TY 712,840 880,300 A 167,460
AT IEE 2 267,140 239,700 27,440
301 et as 267,140 239,700 27,440
M=t - 2SFSEd= 267,140 239,700 27,440
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SN 252
HE: MBS L MM S4
ol MSSANYULLRH (S5l &2
RA B SA(BH) - NRAY - B 01 e HRE2
> 20 189,000,000 * 18 189,000
o AR R 19,300,000 19,300
o e EHYl 2,000,000 * 43l 8,000
o g4 29y 500,000 * 122 6,000
- P 170,000 * 128 2,040
o 25 450,000 * 128 5,400
o 2E= 1,000,000 * 7% 7,000
o €%3 2,600,000 * 42 10,400
o ZHI(2YH S) 1,500,000 * 128 18,000
o Hg +¢ 500,000 * 43l 2,000
MEHSH SN 136,700 148,500 A 11,800
307 QI2H0|H 136,700 148,500 A 11,800
02 DIIAMBE 18,200 0 18,200
o MEHSNCK 2
100,000 * 6% * 12742 7,200
o O{ZOIMSDA 2% 2,200,000 * 1D 2,200
o HAUMMDA 2¥ 2,150,000 * 1D & 2,150
o CIMMEIS 2X 2F 1,150,000 * 1D A 1,150
o MENSRA 29 3,350,000 * 11 &l 3,350
o BAMSHS 2 2,150,000 * 1 &l 2,150
04 QISALRE 118,500 148,500 30,000
o HISEHENES) 4,000
- SotEUIIthEl (18 8l FHH)
2,000,000 * 18l 2,000
- WEWE &0t 2,000,000 * 18l 2,000
o ML TOl MBIKUE &b
40,000,000 * 13l 40,000
o HolhE Hauw s &I}
2,000,000 * 13l 2,000
o MELT H2AMBHSHE &It
5,000,000 * 13} 5,000
o LT MBHSHE EHIHIONES) 12,500
- =703 3,000,000 * 13l 3,000
- HolE=sl 1,500,000 * 13| 1,500
- MEBHZEYS 1,000,000 * 13| 1,000
- 2203 1,000,000 * 13| 1,000
- =303 1,000,000 * 13| 1,000
- =303 1,000,000 * 13| 1,000
- 2203 1,000,000 * 13| 1,000
- HUAHS 1,000,000 * 13| 1,000
- BERIE 8l 1,000,000 * 13| 1,000
- ¥33 1,000,000 * 13| 1,000
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SN 252
Ha: MBS L M2 |4
ol MSSANYULLRH (=CRE
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
o BAT S MEIUSHE S
35,000,000 * 141 35,000
o SUSH) HOIEZSMS 5,000,000 * 18] 5,000
o BUSH HAINE 3,000,000 * 13] 3,000
o SUSH =203 3,000,000 * 13] 3,000
o EUSH WEOIEItHE 3,000,000 * 18] 3,000
o BUSH =203 3,000,000 * 13] 3,000
o W28 HHEUASH 2F  Hd = HUA
tH 8l 3,000,000 * 13] 3,000
2AE S ALK 200,000 300,000 100,000
307 2120/ & 200,000 300,000 100,000
04 QIAEALRE 200,000 300,000 100,000
o H508l SOIRISNE &b
100,000,000 * 13] 100,000
o H6s EUS0IAE U3l
100,000,000 * 13] 100,000
d2 xHZEI 08l K 102,000 103,100 A1,100
201 Y2 Y| 2,000 3,100 A1,100
03 BAI22Y] 2,000 0 2,000
o @2 XU =T BAI2Y
2,000,000 * 13] 2,000
307 2120/ & 100,000 100,000 0
04 DIRISALRE 100,000 100,000 0
o ®2 XFAI U3l Wz
100,000,000 * 13] 100,000
ZOHOl SAF L CHH X 7,000 7,000 0
307 2120/ H 7,000 7,000 0
04 DIRISALE E 7,000 7,000 0
o W93 FoteT HONQIMSOHE &0t
7,000,000 * 13l 7,000
=S ENPER IS 617,754 1,403,591 785,837
205 B2y 31,254 30,509 745
201 Yereg| 26, 154 25,269 835
01 At 7,549 7,024 525
< UBrAEY| > 0
o DOIEH F2ALE 10,000 * 4Z * 122 480
o R0 BESET 2t
10,000 * 35 * 23| 700
o 2olgl@ ®III7 DA
20,000 * 5% * 83l 800
o OIEE AYHA S48 800,000 * 18] 800
o ROIFE ALOEEIASH 5,000 * 123 60
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2AM: S22
F: MENE & ME2HE 84
Sl FOHSIAId2Z2H CEREED
- _ boE ==
2N -3 - c2(3H) - NEME - HES Ol & ‘Oﬁ,‘\jo“ Hns
o FI|I&E NC M=xH ¢ =2
60,000 * 5& * 43| 1,200
307 2I2t0|™ 1,680 1,440 240
05 QIZtRE= 1,680 1,440 240
o ZI|I& R0o1ZHl AlAE 140,000 = 128 1,680
ZZ0|E 25 9 2 415,627 238,202 177,425
S2SH O 2e - 29¢ 240,299 123,060 117,239
s2sHotoa 849 240,299 123,060 117,239
101 Q124 H| 11,915 11,519 396
04 JI2ZtHI22 XS24 11,915 11,519 396
o EASHOIIZ 2F2A2 L EFXHHA AR
35,460 * 5% » 60 10,638
o AUBE = 10,638,000 * 12% 1,277
201 LBt29H| 124,604 45,321 79,283
01 At=2teltl 53,832 19,521 34,311
< Bt 2H| > 0
o SIFHER EP YL S ME
200,000 * 123l 2,400
o EASHOIIE E22 M
3,000,000 * 24! 6,000
o HOHHA S0 =& At 300,000 * 63l 1,800
o EASHIONIIE HIX HA
12,500 * 150& * 13 1,875
o EASHIONIIIZ =43 A
7,000 * 133& * 23| 1,862
o H)| A5 Y M 2 100,000 * 12& 1,200
o J|EF MEEE 2 20,000 * 105 = 12€ 2,400
o E2LSHAIA HA 2,000,000 * 14 2,000
o AYEE Y ZA 3,000,000 * 14 3,000
o RIANE2FE AEBE P2 300,000 * 12& 3,600
o MYJ| BN SEFLY
700 = 1000H = 12&€ 840
< Sl > 0
o E2SHI0HIIE &2l =&
7,000 » 58 = 173 6,055
< Y > 0
o HOta &4 50,000 = 1€ * 380 19,000
< Ol=d| > 0
o &Ags U AHHG 150,000 * 8H 1,200
o HIAZZE I=H| 150,000 * 49 600
02 S=294l 70,772 25,800 44 972
< BBLL2YLHA > 0
o EZSH O3 &I 3,000,000 = 12& 36,000
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SN 2322
o pEE HE 9 2
ool SUSHODIE 22 - 29 (s & &
_ = P e
SN HABIH) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
o BNt AIEE 10,000 = 2CH ~ 128 240
o dHHG ME= 50,000 = 104 » 12 600
o SUSHOIIT otEze HEL+4E
350,000 * 128 4,200
o AdYSMNER 20,000 = 1814 123 240
o A%, H)|,FIE=S =6l 400,000 * 12 400
o otk AIEE 200,000 » 12& 2,400
< gzl > 0
o AHMEE HYE 22
1,037.66 = 1,200 ¢ 1,246
< AIEEHISXdl > 0
o 4H QEH0l & ORI =FU
1,720.46 = 840 ¢ 1,446
o HIOHHZ Alg2tel & HHIRA
2,000,000 = 123l 24,000
202 044 4,980 2,920 2,060
01 =LHOHI 4,980 2,920 2,060
o SZSHOIIZ R =
20,000 = 38 » 83 4,980
206 M= Hl 21,000 19,000 2,000
01 M=Hl 21,000 19,000 2,000
o EZSHOIIZ AlE2el HE 2L
300,000 = 205 6,000
o MSHE &M 7 500,000 = 10& 5,000
© HOHIZE Z2F2el (s, 812,2)
2,000,000 » 52 10,000
307 elztold 12,600 0 12,600
05 BIZtAAE =S 12,600 0 12,600
o ROIFHIAIAE 150,000 * 702 * 128 12,600
401 AIEHIZL 20 51,000 43,800 7,200
01 Al£Hl 51,000 43,800 7,200
o EZSHAIZ HIIAE W2+
20,000,000 * 14| 20,000
o XFd+ dF X Hiuh 15,000,000 * 14| 15,000
o AULRHESEH 2 & 2,000,000 = 22/ 4,000
o MIMEE &AW X1 6,000,000 x 29 A 12,000
405 XtobE SHI 14,200 500 13,700
01 ML ESF=H 14,200 500 13,700
o St=EHEE W d&E0 F& 700,000 = 1604 11,200
o SFHEH TV 7Y 1,500,000 = 2CH 3,000
ZANME REIAZ 29 2tel 96,767 37,900 58,867
2N REIA2 29 2 96,767 37,900 58,867
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